260

i
&
&

¥

5w
I\ FIb

YR E
BE&RLEER

FEEF
HEIF
EIARF

FSVUWF
I\ B

[ElEREF

EIES

ARZ
S [
7=

TARIV K
74Ty b

itk A=

LooNince BFTERIE QR I— RHS HP AT 4 £

FERE—EX (WER)

HFARE 2T 2R mE i N—
N kgf (mm)
49000 | 5000 M24 X 3.0 | 146.5 |H-420-3 FERALANIVRIV S (N7 2 J%EE) M24 X 100mm 339
H-420-SUS-3 ATV L RAEERLANIVRIV b (X7 THE) M24 X 100mm 339
44100 | 4500 M20 X 2.5 209 |H-67-SUS-6 ATV L ALANIVARIL F M20 X 180 mm 338
159 | H-67-SUS-5 AT LALANJVARIV b M20 X 130 mm 338
129 |H-67-SUS-4 AT7 L ALANJVRIV b M20 X 100 mm 338
39200 | 4000 M20 X 2.5 | 242.5 H-420-1 BEERALANIVRIV S (X7 F%E) M20 X 200 mm 339
H-420-SUS-1 ATV L RAEZERLANIVRIV b (X7 7%E) M20 X 200mm | 339
209 |H-67-6 LANJVARIV b M20 X 180 mm 338
192.5 |H-420-2 BEALANIVRIV S (N7 T%E) M20 X 150 mm 339
H-420-SUS-2 ATV L RAEERLANIVRIV S (N7 > J%%E) M20 X 150 mm | 339
159 | H-67-5 LAJLARIL b M20 X 130 mm 338
142.5 | H-420-4 BERALANIVRIV S (X7 F%E) M20 X 100 mm 339
H-420-SUS-4 ATV L RAEERLANIVRIV b (RF7 Y2 7%E) M20 X 100 mm | 339
129 | H-67-4 LAJVARIV b M20 X 100 mm 338
24500 | 2500 M16 X 2.0 206 |H-67-3 LANJVARIV b M16 X 180 mm 338
H-67-SUS-3 AT LALANVARIV b M16 X 180 mm 338
156 | H-67-2 LAJVRIL b M16 X 130 mm 338
H-67-SUS-2 AT LALANIVARIL F M16 X 130 mm 338
126 |H-67-1 LANJLARIL b M16 X 100 mm 338
H-67-SUS-1 ATV LALANIVARIL S M16 X 100 mm 338
12500 | 1276 | M20 X 2.5 164 | H-422-1 M-19A NIk 335
9310 950 M20 X 2.5 148 | H-423-SUS-1 A7V L R7 T+ X M H=160mm 334
128 | H-423-SUS-2 ATV LAT Y% X M H=145mm 334
108 | H-423-SUS-3 ATV LAT Y v A N H=125mm 334
85 |H-423-SUS-4 ATV LAT Y v R i H=105mm 334
65 | H-423-SUS-5 ATV LRAT I % X M H=70mm 334
6860 700 M20 X 2.5 160 | H-65-7 A—I\—TZ 4 X M20 X 130 mm 336
H-65-SUS-7 ATV LRAR—IN—=T 54 X M20 X 130 mm 336
130 | H-65-6 RA—IN\—=5Z4 X M20 X 100 mm 336
H-65-SUS-6 ATV LAR=IN=9Z 4 X M20 X 100 mm 336
M16 X 2.0 97 | H-65-5 A—=IN\—=TZ 14X M16 X 70mm 336
H-65-SUS-5 ATV LVRAR—=IN—=T 54 X M16 X 70mm 336
M10 X 1.5 | 38.5 |H-64-3 BAHRANT Vv A2— $32 332
38 |H-64-4 BAHANT I ¥ RZ2— $36 332
6300 643 | M16 X 2.0 157 |H-422-2 M-14A NIk 335
6096 622 M14 X 2.0 66.5 |H-59-1 A—21)—7LA > M14 X 30mm 335
5880 600 M20 X 2.5 162 |H-66-SUS-4 ATV LALANIVRIV ~ M20 X 130 mm 337
M16 X 2.0 | 209 |H-66-SUS-11 ATV LALANIVARIL S M16 X 180 mm 337
159 |H-66-SUS-3 ATV LALANIVARIL S M16 X 130 mm 337
129 | H-66-SUS-2 ATV LALANIVARIL F M16 X 100 mm 337
M12 X 1.75| 142 |H-66-SUS-1 AT L ALANIVARIV b M12 X 120 mm 337
M8 X 1.25 35 |H-64-1 BAHANT I v AR2— ¢25 332
H-64-2 BAHRANT Vv A2 — $28 332
4900 500 M20 X 2.5 162 | H-66-4 LANJVARIV b M20 X 130 mm 337
M16 X 2.0 209 |H-66-11 LANJVARIL b M16 X 180 mm 337
159 | H-66-3 LAJVRIL b M16 X 130 mm 337
129 | H-66-2 LAJLRIL b M16 X 100 mm 337
M12 X 1.75 | 142 | H-66-1 LANJVARIL b M12 X 120 mm 337
93.5 |H-65-SUS-3 ATV L AR—=IN=T 54 X M12 X 70 mm 336
93 |H-653 A—=IN—=FZ A4 X M12 X 70 mm 336
3920 400 M10 X 1.5 | 117.5 |H-66-13 LAJVARIL B M10 X 100 mm 337
M8 X 1.25 66 | H-66-12 LAJVARIV b M8 X 50 mm 337




BIE®RIZ QR I— FAS HPAT 22 R Loclinee 261

FAaEE I 2R i % N—
N kgf (mm)
3136 | 331 |M12 X175 51 | H-59-2 O—42U—7LA> M2 X 25mm 335 ity
3100 316 |M12 X 1.75 121 | H-422-3M-10A NI 335 1B
2940 300 M10 X 1.5 70 | H-65-2 A—IN—FZ 4 X M10 X 50mm 336 H
H-65-SUS-2 ATV LAR—=IN—=TZ 4 X M10 X 50mm 336
M8 X 1.25 79 | H-65-SUS-1 ATV LAR—=IN—=TZ5 4 X M8 X 60mm 336
78.5 |H-65-1 A—IN—%Z4 X M8 X 60mm 336
1568 160 M10 X 1.5 | 42,5 H-59-3 O—421)—7L 4> M10 X 20mm 335
1078 110 | M8 X 1.25 | 130 |H-421-1 7% A LRIV~ M8 X 130 mm 334
105 |H-421-2 7% A MRV M8 X 105 mm 334
90 | H-421-3 7% A MRV M8 X 90 mm 334
70 | H-421-4 7% A MRV M8 X 70 mm 334
50 |H-421-5 7% A MRV F M8 X 50 mm 334
375 |H-594 O—4%U—7LA> M8 X 19mm 335 ¥
30 | H-421-6 7% A LRIV kM8 X 30 mm 334
588 60 M10 X 1.5 = 87.5 |H-162-1 7)—0O—)V7 Vv AZ— $50 333 P
49 | H-162-3 7)—O—)b7 I ¥ A2 — ¢60 333 NV RV
H-162-4 7 —O—=)V7 I ¥ RZ— 50 333
M8 X 1.25 86 |H-162-2 7)—O—)L7 I ¥ AE— ¢40 333 WS
47.5 |H-162-5 7)—O—)V7 I v RZ— 40 333 BEERIEE 2
M6 X 1.0 31 | H-59-5 O—4&Y—27LA> M6 X 14mm 335
196 20 M6X10 155 |H-62B-1 BABFENTUVY ¢ 26 346 PERF
H-62B-2 BEBFENT T ¢ 24 346 igigg
H-62B-3 BEBSHENT T ¢ 22 346
49 5 M6 X 1.0 14.5 |H-62B-4 BEAENRTU>YT ¢ 19 346 FSYHEE
HINVBERF
[EEEEF
51F
AR
S [
7h—
7ARIL
7AF v b
el
25w S
H— R
RIVE—
KEA
Ry
77— AIHF
R7 Y5



